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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.

Fill the relevant bubble against each question:

CHEMISTRY SSC-|

SECTION - A (Marks 12)
Time allowed: 20 Minutes
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Which preducts are formed by the
electrolysis of molten NaCf ?

Na.,H, 0O
1. Na(s) ’ CIZ; NalSJ * Hz g1 Afa(‘*) ’ 02‘8 O €2 iy
?Z:Lf-f"_‘f(f)/.’q-dfc‘;):/lgﬁé NaCl Z_ﬂcg; O & O ( J
,  Mass of 2 moles of hydrogen gas is: O 8.064g O 4.032g 1.008g 2.106g
S'é_ubl:ﬁ?u‘-':ﬁuifi,dru £1./8.06 (14032 rlf 1.008 r /2,108
(H atomi¢ mass=1.008 a.m.u)
. . N 2
N nNe has electronic configuration; O 182,282, O 15,200 38 1S21, 254, 1$?, 257, 2P
AN P NI 352, 3P 357, 2P
Predict the location of [ 4/ in Periodic 2™ Period 2 Period | 3 Period , 3’: Period ,
4 fable: ) ‘ O 2" Group O 3¢ Group 27 Group ) ¥ GF?UD )
ur“/ru,‘."'i{r{;.f_ IEJAI JJ:J?M Lo sk il 0 _?/:/’?Asi_gf/;,v ?d/r'/))‘;_/f:lﬁ .?«.r;!ﬁ."ri_ﬁlﬁ
o
tdentify the ionic compound from the
5. given options: MgO 0, H,0 CO,
~qfu?§g(fci'uz_f§l'¢:_gﬂa;fyu O O
Conversion of a liquid into a gas at all . . .
g temperatures is calied: O Freezing O MeHing Evaporation Caondensaf'on
"{,LM"".T_LKJ(L_HJ)F ufu':rﬁéb.g&;l.?e»(,fgf( .f/_j N L'ﬁ’{,“.” K’:f
The elements that can exist in two or
more different arrangements of atoms ,
,  arecalled: O Isotopes O Allotropes Amorphous Crystalline
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Atmospheric pressure at Murree is

less than 1 atm so, the boiling point of Less than More than
water at Murree will be: 100°C 100°C
8. ) 100°C . <
rifedry By Kd[.’upc;’q.fc_.latmip Kiw L {c_. 100°C O 0 O wbic 100°C O 12rc
o
Keeping the pressure of gas constant, Increasing Decreasing Decreasing Increasing
g ~average kinetic energy increases by: temperature O pressure O temperature O pressure
?J&‘/,c;./d)i.@wqhi.ﬁg;}?ﬂégug Llekm P o ai../ﬁ’/?./f c’.LJ?(\:«JLP,u: RIS Y- ¥4
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Mass of Copper Sulphate dissolved in
10 100 g of solution is called; Concentration O Molarity O Percentage O Solubility
HL Y ?utcf}frnf 100 o /*r J Ay ‘ s 33 deit
The oxidation state of in Nin NH, is:
11, ) ' +1 O 3 O -1 O
?%L,Q,;vcﬁ;_/fs’Nu: NH,
‘|dentify the branch of chemistry which ,
deals with study of glucose formation Inorganic Organic Analytical
12 by plants: . chemistry O chemistry O Biochemistry O chemistry
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9.3
CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33}

Q.2 Attempt any ELEVEN parts. All parts carry equal marks. (11x3=33)
(i) Differentiate between molecular ion and free radical with examples.
(i) What is meant by: a. Atomic mass b.  Atomicnumber ¢ Atomic mass unit

{iii Draw Bohr's atomic model for ¥/ and ¥~z , indicating location of electrons, protons and neutrons.

(iv) The atomic mass of copper metal is 63.5 amu. Calculate the mass of 3.5 moles of copper sulphate.

(CuS0,)
(v} Wirite the electronic configuration of ¥g, Y~ and ;Si.

{vi) What is meant by corrosion? Write the chemical equation for rusting of iron.
{vii} State the substances which are being oxidized or Reduced in the given chemical reactions:

N, +3H, — 2NH,
Mg+ H,0 - MgO+H,
Fe,0,+3C0 —2Fe+3C0,

(viiiy  How can the location of an element 2x be identified on pericdic table by its electronic configuration?

{ix) Platinum is an inert metal. Discuss its commercial importance.
(x) Explain the composition of 'Aqua Regia'. How it is used to dissolve the noble metals.
(xi) Show the formation of cations from the following metals, using electron dot cross structures.
a. Be (atomic number=4) b. Al {atomic number=13)
(xii} - What are allotropes? Explain the allotropes of phosphorus.
(xii}  MgSO, is used in medicines. How can 0.5 M 500cn:’ solution of eSO, be prepared from a 2.5 M stock

solution of MeSO,?

{(xiv)  State Octet and Duplet rules with one example each.
{xv) Dry celis are used to power wall clock. Describe how a dry celt produces electrical energy. Explain

with the reactions at anode and cathode.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10=20)
Q.3 a.  State Charle’s Law. Ammonia gas is used as a refrigerant. Calculate the Initial volume of
NH, gas at 0°C that is changed to 731em® by cooling itto -14°C at constant pressure. (05)
b. What are Isotopes? State the importance and uses of isotopes in daily life. {1+4=5)
Q.4 a Explain electron affinity and electronegativity alongwith their trends in periodic table. {06)
How covalent bond is formed? Describe single, double and tripie covalent bond formation
between two non-metallic atoms with the help of structures. (1+3=4)
Q.5 a What is Molarity? If 50g of a chemical, having molecular formula CON,H, is dissolved in 250cm’
of solution. Calculate the molarity of this solution. (1+4=5)
b. Copper metal obtained from its ores is impure. Explain electroiytic refining of copper.
Sketch the cell showing anode cathode and flow of electrons. {05)
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N, +3H, > 2NH,
Mg+ H,0 —» MgO+ H,
Fe,0, +3C0O — 2Fe+3C0,
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